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A shopkeeper organizes sale on Friday, offering a discount of 23% on all items.
Still, he makes a profit of 10% only. By how much percentage CP was lower
than MP?

Udh GHHGR YhdR bl U &1 TR 23% DI §¢ ad §U Ud Hdl DI 3O
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Train A took 30 minutes to cover a distance of 50 km. If the speed of train B is
40% more than train A, then the ratio of the respective speeds of both the trains

IS
29 A4 50 fhdl ®f &3 B a9 B T 30 [0 o1 99y foran gid 24 B & 91, ¢4
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a) °
b) 3
c) =

d) -
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< 500 was invested at 12% per annum simple interest and a certain sum of
money at 10% per annum simple interest. If the sum of the interests on both the
sum after 4 years is X 480, the other sum of money is:

2 500 B 12% UTd IV 1RO 7o) UR 9% far 1471 3iR U [fda e &
10% Yfd 98 IATRUT AT UR 99 fd1 771 9fe 4 9y & |1 Gl AR IR o
@I M ? 480 B, Al QORI YR 6:

a) 50
b) 50
C) 00

HAS d) -
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If a sum of X 2000 is lent at 10% p.a. compound interest, what is the interest for

the second .
ﬁ@%a% gAY gehdla oTSl WR YR &l STl g, dl IR ay &

foTu <79 1 672

o o | gnd geay
— te a) 225
\ % b) 200
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In a family of 4 adults and some minors, the average consumption of rice per
head per month is 8.5 kg, while the average consumption for adults is 10 kg per
head and for minor it is 5.5 kg per head. The number of minors in the family is:

(4 995 AR Do AsIerT P URAR &, UI%IIEU%M::H T P13 G 8.5
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In a circular garden of radius 15 m, a path of 2 m wide has to be made inside

the garden at the rate of 24 per sq. m. The cost of making the path is: (Take 1
22
= )

15 Hier 2501 & U JuidR 39 ¥, 2 HIeR 9IS HR| &l I &
yfct a7 Flex Df R W SR ST g1 AT S B I 6: (1m = 2 ¢H W)
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2 /3 a) 1100

%2})(14—. b) 864
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19-6x24

G20 d) 1355
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A hollow cylinder with outer radius 4 cm and height 2 cm is made up of 1 cm

thick metal sheet. What is the volume of metal used? (Take 1 = 2?'_3

qIgRl A1 4 JHT 3R Sdls 2 THl & A1y Uh WRadl s 1 JHT Al 41 Qe A
1 T | WA €1g T S fhdr g2 (m= 22 dH W)
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The ratio of the present age of Mahesh and Ajay is 3 : 2 respectively. After 8
years. Ratio of their age will be 11: 8. What will be the present age of Mahesh’s
son if his age is half of the present age of Ajay?
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Two adjacent sides of a parallelogram are 12 cm and 9 cm and one of the angle
is 30° . Find the area of parallelogram.

wmmgﬂa%aﬁmﬁﬁmuﬂrﬁaﬁw@ﬂ%ﬁ?w | JHIAR
AU BT & 1 DI /,\,lwm@
a) Sg. cM
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C) 8 sq. cm
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n the price of a cycle is decreased by 20%,then the selling is increased by
What is the impact on the receipt of the revenue?

T 20% I pHI gl g, dl [l T 20% | qi&l gldl g

| Ioss

b)  profit
profit no loss

d )  profit
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Find the maximum length of the rod that can be placed in a room of dimension
10 meters by 10 meters by 5 meters?
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The LCM and HCF of two numbers are 108 and 18 respectively. If one of the
numbers is 36, find the other number.
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Find out the median of values of the given set 5, 6, 7, 14, 11, 12, 13 and 8.

mmﬂq@e. 7,14, 11, 12, 13 31 8 DI HIIL D] DI {IH JTd DI |
Gma-qg,l::- 4’“ (e

a)
A |2 I’S,‘q‘ b) 3
(1)~ 19 -3 c) >

d)
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The age ratio of Kalam and Venkata is 8 : 7 respectively. After 20 years, the
ratio of their ages will be 13 : 12 respectwel \ﬁhat Is the difference between
their ages?
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